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رفسنجان









۹۸۷۶ : /۱۰۲۳ : 1-
۹۸۷۶_۱۰۲۳=۸۸۵۳

>(۶ =(۵ <(۴ <(۳ <(۲ =(2-۱

۴۲×۲=۸۴
۲۸+۸۴=۱۱۲

  ۶×۶=۳۶   4-
۲×۴=۸   

۳۶_۸=۲۸   

۲×۸=۱۶    
۳×۳=۹   

۱۶+۹=۲۵   

5-۸۰۰
۱۲۰

_________
۹ ۲ ۶

۲×۴۰۰=۸۰۰
۲×۶۰=۱۲۰

۲×۳=۶
۲۰×۳۰=۶۰۰
۶۰×۳۰=۱۸۰۰

۵۶÷۷=۸ 6-
؟         ۷      ۵۶ 

۶×۱۰=7-۶۰
۴ ( ۸ (

۶۰÷۷
 / / /   //  8-

/  (  ( .      9-
  (

۲۷۰۰۰ ( ۱۰۰۰ ( ۳۰_۲۱=۹ ( ۷ (10-
.      


